

BOARD OF SUPERVISORS AGENDA ITEM REPORT CONTRACTS / AWARDS / GRANTS

Award C Contract C Grant

Requested Board Meeting Date: 03/03/20

* = Mandatory, information must be provided

or Procurement Director Award

*Contractor/Vendor Name/Grantor (DBA):

Arizona Glove and Safety, Inc. dba AGS Safety & Supply (Headquarters: Tempe, AZ)

*Project Title/Description: Industrial & Personal Safety Supplies

*Purpose:

Award: Master Agreement No. MA-PO-20-128. This Master Agreement is for an initial term of one (1) year in the annual award amount of \$355,000.00 (including sales tax) and includes four (4) one-year renewal options. Administering Department: Regional Wastewater Reclamation

*Procurement Method:

Pursuant to Plma County Procurement Code 11.12.010, Competitive sealed bidding, Solicitation No. IFB-PO-2000066 was conducted. Three (3) responses were received. Award is to the lowest, responsive and responsible bidder.

PRCUID: 361037

Attachments: Notice of Recommendation for Award and Master Agreement.

*Program Goals/Predicted Outcomes:

Purchase of safety supplies for all County departments at competitive prices.

*Public Benefit:

Safe and compliant environments for County employees and the public.

*Metrics Available to Measure Performance:

Measured safety metrics and Contractor's adherence to the terms and conditions of the contract.

*Retroactive:

No.

TU: CUB 2/19/20(1) VERS:1 PG5:20

Contract / Award Information	L	
Document Type: MA	Department Code: PO	Contract Number (i.e., 15-123): 20-128
Effective Date: 03/18/20 T	ermination Date: 03/17/21	Prior Contract Number (Synergen/CMS):
Expense Amount: \$* 355	,000.00	Revenue Amount: \$
*Funding Source(s) required:	Wastewater Operations Fund General Fund	
Funding from General Fund?		% 40
Contract is fully or partially func	led with Federal Funds?	🗌 Yes 🖾 No
If Yes, is the Contract to a ve	ndor or subrecipient? <u>Ver</u>	dor
Were insurance or indemnity cl	auses modified?	🗌 Yes 🛛 No
If Yes, attach Risk's approval.		
Vendor Is using a Social Securi	ty Number?	🗆 Yes 🖾 No
-	, per Administrative Procedure :	22-10.
Amendment / Revised Award		
		Contract Number (i.e., 15-123):
		AMS Version No.:
Effective Date:		New Termination Date:
		Prior Contract No. (Synergen/CMS):
C Expense or C Revenue	Cincrease CiDecrease	Amount This Amendment: \$
Is there revenue included?	CYes CNo If Y	es \$
*Eunding Coursels) required:		
*Funding Source(s) required:		
Funding from General Fund?	CYes CNo If Y	es\$%
	· · · · · · · · · · · · · · · · · · ·	
Funding from General Fund?	n (for grants acceptance and a	
Funding from General Fund? Grant/Amendment Information Document Type:	n (for grants acceptance and a Department Code:	awards) C Award C Amendment Grant Number (i.e.,15-123):
Funding from General Fund? <u>Grant/Amendment Information</u> Document Type: Effective Date:	n (for grants acceptance and a Department Code: Termination Date:	awards) C Award C Amendment Grant Number (i.e., 15-123): Amendment Number:
Funding from General Fund? Grant/Amendment Information Document Type: Effective Date: Match Amount: \$	n (for grants acceptance and a Department Code: Termination Date:	wards) C Award C Amendment Grant Number (i.e.,15-123): Amendment Number:
Funding from General Fund? <u>Grant/Amendment Information</u> Document Type: Effective Date:	n (for grants acceptance and a Department Code: Termination Date: ed:	awards) C Award C Amendment Grant Number (i.e., 15-123):
Funding from General Fund? Grant/Amendment Information Document Type: Effective Date: Match Amount: \$	n (for grants acceptance and a Department Code: Termination Date: ed:	awards) C Award C Amendment Grant Number (i.e., 15-123): Amendment Number:
Funding from General Fund? Grant/Amendment Information Document Type: Effective Date: Match Amount: \$ *All Funding Source(s) requires *Match funding from General I *Match funding from other sou	n (for grants acceptance and a Department Code: Termination Date: ed: Fund? (Yes (No If Y	awards) C Award C Amendment Grant Number (i.e., 15-123):
Funding from General Fund? Grant/Amendment Information Document Type: Effective Date: Match Amount: \$ *All Funding Source(s) requires *Match funding from General I *Match funding from other son *Funding Source:	n (for grants acceptance and a Department Code: Termination Date: ed: Fund?YesNoIf Y urces?YesNoIf Y	awards) C Award C Amendment Grant Number (i.e., 15-123):
Funding from General Fund? Grant/Amendment Information Document Type: Effective Date: Match Amount: \$ *All Funding Source(s) requires *Match funding from General I *Match funding from other sou	n (for grants acceptance and a Department Code: Termination Date: ed: Fund? (Yes (No If Y urces? (Yes (No If Y urces? (Yes (No If Y	awards) C Award C Amendment Grant Number (i.e., 15-123):
Funding from General Fund? Grant/Amendment Information Document Type: Effective Date: Match Amount: \$ *All Funding Source(s) required *Match funding from General I *Match funding from other son *Funding Source: *If Federal funds are received, Federal government or passed	n (for grants acceptance and a Department Code: Termination Date: ed: Fund?YesNoIf Y urces?YesNoIf Y urces?YesNoIf Y is funding coming directly f d through other organization	awards) C Award C Amendment Grant Number (i.e., 15-123):
Funding from General Fund? Grant/Amendment Information Document Type: Effective Date: Match Amount: \$ *All Funding Source(s) required *Match funding from General I *Match funding from other son *Funding Source: *If Federal funds are received,	n (for grants acceptance and a Department Code: Termination Date: ed: Fund?YesNoIf Y urces?YesNoIf Y urces?YesNoIf Y is funding coming directly f d through other organization	iwards) C Award C Amendment Grant Number (i.e., 15-123):
Funding from General Fund? Grant/Amendment Information Document Type: Effective Date: Match Amount: \$ *All Funding Source(s) required *Match funding from General I *Match funding from other son *Funding Source: *If Federal funds are received, Federal government or passed Contact: Kelsey Braun-Shirley, Department: Procurement	n (for grants acceptance and a Department Code: Termination Date: ed: Fund? Yes No If Y urces? Yes No If Y urces? Yes No If Y d through other organization , Procurement Officer w ^A	awards) C Award C Amendment Grant Number (i.e., 15-123): Amendment Number: Amendment Number: Revenue Amount: \$ es \$% es \$% Division Manager: Ama Mark 2/1/3/2-0
Funding from General Fund? Grant/Amendment Information Document Type: Effective Date: Match Amount: \$ *All Funding Source(s) required *Match funding from General I *Match funding from other source: *If Federal funds are received, Federal government or passed Contact: Kelsey Braun-Shirley, Department: Procurement Department Director Signature	n (for grants acceptance and a Department Code: Termination Date: ed: Fund? Yes No If Y urces? Yes No If Y urces? Yes No If Y is funding coming directly f d through other organization , Procurement Officer Y	awards) C Award C Amendment Grant Number (i.e., 15-123):
Funding from General Fund? Grant/Amendment Information Document Type: Effective Date: Match Amount: \$ *All Funding Source(s) required *Match funding from General I *Match funding from other son *Funding Source: *If Federal funds are received, Federal government or passed Contact: Kelsey Braun-Shirley, Department: Procurement	n (for grants acceptance and a Department Code: Termination Date: ed: Fund? Yes No If Y urces? Yes No If Y urces? Yes No If Y is funding coming directly f d through other organization , Procurement Officer Y ^{AA} /Date: /Date:	awards) C Award C Amendment Grant Number (i.e., 15-123): Amendment Number: Amendment Number: Revenue Amount: \$ es \$% es \$% Division Manager: Ama Mark 2/1/3/2-0

.



NOTICE OF RECOMMENDATION FOR AWARD

Date of Issue: February 13, 2020

The Procurement Department hereby issues formal notice to respondents to Solicitation No. IFB-PO-2000066 for Industrial & Personal Safety Supplies that the following listed respondent will be recommended for award as indicated below. The award action is scheduled to be performed by the Board of Supervisors on or after March 3, 2020.

Award is recommended to the lowest, responsive and responsible Bidder.

AWARDEE NAME Arizona Glove & Safety, Inc. dba AGS Safety & Supply BID AMOUNT \$322,529.72* ANNUAL AWARD AMOUNT \$355,000.00 (including sales tax)

OTHER RESPONDENT NAMES W.W. Grainger, Inc. dba Grainger

BID AMOUNT \$389,488.86

Old Pueblo Safety, LLC. dba Old Pueblo Safety

\$460,856.57*

*Bid amount as shown includes corrections.

Issued by: Kelsey Braun-Shirley, Procurement Officer

Telephone Number: (520) 724-7466

This notice is in compliance with Pima County Procurement Code §11.12.010(C) and §11.20.010(C).

Copy to: Pima County SBE via e-mail at <u>SBE@pima.gov</u>.



MASTER AGREEMENT

PIMA COUNTY, ARIZONA

THIS IS NOT AN ORDER - TRANSMISSION CONSTITUTES CONTRACT EXECUTION

Master Agreement No: 200000000000000128

MA Version: 1

Page: 1 of 2

Description: Industrial & Personal Safety Supplies

I S U E R	Pima County Procurement Department 130 W. Congress St. 3rd Fl Tucson AZ 85701 Issued By: Kelsey Braun-Shirley Phone: 5207247466 Email: kelsey.braun-shirley@pima.gov	T Initiation Date: 03-18-2020 E Expiration Date: 03-17-2021 R M NTE Amount: \$355,000.00 S Used Amount: \$0.00	
v			

-	ARIZONA GLOVE & SAFETY	Contact:	Abe Alansary
E	DBA: AGS SAFETY & SUPPLY	Phone:	520-276-5956
N		Email:	abe@azglove.com
D	3010 S 52nd St	Terms:	0.00 %
0	Tempe AZ 85282	Days:	30
R			

Shipping Method:

Vendor Method

Delivery Type:

FOB: FOB Dest, Freight Prepaid

Modification Reason

This Master Agreement is for an initial term of one (1) year in the annual award amount of \$355,000.00 (including sales tax) and includes four (4) oneyear renewal options.

Attachment: Offer Agreement.

This Master Agreement incorporates the attached documents, and by reference all instructions, Standard Terms and Conditions, Special Terms and Conditions, and requirements that are included in or referenced by the soliciation documents used to establish this agreement. All transactions and conduct are required to conform to these documents.





Master Agreement No: 2000000000000000128

MA Version: 1

Page: 2 of 2

Line Description	
------------------	--

1	Industrial Safety and Person	nal Safety Suppl	lies			
	Discount 0.0000 %	UOM EA	Unit Price \$0.00	Stock Code	VPN EID 20661	MPN
	0.0000 /0					

OFFER AGREEMENT

1. <u>INTENT</u>:

This document is intended to establish a Master Agreement ("MA") to provide Pima County ("County") with industrial and personal safety supplies on an "as required basis" by issue of Delivery Order ("DO") or Delivery Order Maximo ("DOM").

As defined by the Pima County Standard Terms and Conditions included herein, this contract is non-exclusive and County may terminate it for any reason without penalty or cost.

All Goods and Services that Contractor offers or provides pursuant to the contract will conform to the requirements defined by or referred to by the solicitation documents including *Solicitation Amendment*, *Instructions to Offerors*, *Standard Terms and Conditions*, and this *Offer Agreement*, all of which are incorporated herein.

This document, including all attachments and documents incorporated by reference, constitutes the entire contract between the parties pertaining to the subject matter hereof, and merges all prior or contemporaneous agreements and understandings, oral or written, herein.

2. <u>CONTRACT TERM, RENEWALS, EXTENSIONS & REVISIONS</u>:

The initial term of the MA will be for a one (1) year period and include four (4) one-year renewal options that the parties may exercise upon written agreement as follows:

Contract extensions, renewals, or revisions will occur through the issuance by County to Contractor of a revised MA document setting forth the requested changes. Failure by Contractor to object in writing to the proposed revisions, terms, conditions, scope modifications and/or specifications within ten (10) calendar days of issuance by County will signify acceptance of all such changes by Contractor and the revision will be binding upon the parties.

3. CONTRACTOR MINIMUM QUALIFICATIONS:

The Contractor certifies that it is competent, willing and responsible for performing the services or providing the products in accordance with all requirements of the solicitation and this contract. Contractor certifies that it possesses all licenses required by applicable Agencies to satisfy the requirements of this contract.

ITEM NO.	MINIMUM QUALIFICATIONS	CHECK I appropriate response certifying agreement with the requirement.
	Contractor must have experience providing industrial and personal safety supplies for a minimum of three (3) consecutive years.	
1	Documentation proving stability and experience is required with submission.	Yes

4. <u>PRODUCT OR SERVICE SPECIFICATIONS & SCOPE</u>:

4.1. Contractor must assign an account representative to manage and administer the contract and provide service to end users. The assigned account representative must have knowledge and expertise in the safety supplies industry including awareness of applicable standards and product knowledge.

4.2. Contractor is required to provide service to Pima County Regional Wastewater Reclamation Department (RWRD) first aid kits by inspecting and re-filling on a monthly basis or at mutually agreed upon intervals. Contractor must provide their personnel all required materials and equipment necessary to perform the service. There are a total of 77 first aid kits at six (6) different locations across Pima County, the locations and number of first aid kits per location are specified in the table below. The first aid kit replenishment program must be executed as outlined in the remainder of this section.

LOCATION NAME AND ADDRESS	# OF FIRST AID KITS AT LOCATION
Avra Valley Water Reclamation Facility 10000 W. Snyder Hill Rd. Tucson, AZ 85735	6
Corona de Tucson Water Reclamation Facility 1100 W. Sahuarita Rd. Corona de Tucson, AZ 85641	3
Green Valley Water Reclamation Facility 19600 S. Old Nogales Hwy. Green Valley, AZ 85614	5
Sub-Regional Headquarters 4527 W. Walker Rd. Tucson, AZ 85743	4
Randolph Water Reclamation Facility 3805 E. 22 nd St. Tucson, AZ 85713	1
Tres Rios Water Reclamation Facility 7101 N. Casa Grande Hwy. Tucson, AZ 85743	58
TOTAL NUMBER OF FIRST AID KITS TO BE SERVICED	77

4.2.1. In accordance with the agreed upon schedule, Contractor will complete an inspection of all applicable first aid kits. Inspection services include completing an inventory, checking expiration dates and rotating items so that the earliest expiring items are most accessible.

4.2.2. Upon inspection Contractor will create and provide to County an inventory document and replenishment list. First aid kits must be filled to the minimum amount required by American National Standard Institute (ANSI) Z308.1-2015.

4.2.3. To validate the inspection was conducted County requires that each kit be dated and initialed upon inspection.

4.2.4. County will create a DO based on replenishment list provided by Contractor.

4.2.5. At the next scheduled service date, Contractor will deliver the ordered items. County must confirm receipt of all items ordered prior to replenishment. Contractor will stock the first aid kits with the ordered and required items and complete another inspection.

4.3 Contractor and its employees must exercise safe industry work practices while providing service in pursuant to this contract. All work must be in accordance with applicable Occupational Safety and Health Administration (OSHA), Federal, State, County and local municipalities ordinances and regulations. Specifically while on-site at a RWRD location Contractor must adhere to the below listed requirements.

4.3.1. Contractor's personnel may attend a plant safety briefing prior to coming on RWRD plant sites. Contractor will contact the RWRD County employee prior to visit.

4.3.2. Contractor's employees are required to sign in with the RWRD Plant Site Administration Office immediately upon arrival at any RWRD facility and report to the county employee.

4.3.3. Contractor must wear an ID pass at all times while on plant site, and return ID pass at the end of each day to the RWRD Plant Site Administration Office.

4.3.4. Contractor is required to provide their own Personal Protective Equipment (PPE) and wear the required plant site PPE. PPE may include but is not limited to hard hats, fall protection equipment and gear, steel toe boots, safety vest, eye protection and hearing protection.

4.3.5. Contractor's vehicles must be clearly marked on the outside or windshield. The use of decals/magnets identifying the Contractor's name or a sign displayed in the front window are acceptable. Decals smaller than 8.5 inches by 11 inches will not be accepted.

4.3.6. Contractor's personnel must be designated by an easily identifiable company shirt or badge worn at all times while on site.

4.3.7. Contractor is to leave a clean work site once the inspection or repair work is completed. Any chemical of fluid spills are to be immediately reported to the County employee. All debris must be disposed of by the Contractor at their expense. All materials, tools, equipment etc. must be removed or safely stored.

4.3.8. The County is not responsible for theft or damage to Contractor's property.

4.3.9. All possible safety hazards to workers or the public must be corrected immediately and left in a sage condition at the end of each workday.

4.3.10. Contractor is responsible for the safety of their employees at all times.

4.3.11. RWRD site entry is restricted to authorized persons with proper identification such as a driver's license, commercial driver's license or passport.

4.3.12. All chemicals used on RWRD treatment facilities require the Contractor to submit the Safety Data Sheet (SDS) to the RWRD Treatment Point of Contract for approval prior to stocking.

4.3.13. RWRD prohibits smoking and e-cigarettes/vaping devices, use of chewing/smokeless tobacco, alcohol, drugs, and weapons on all plant sites.

5. OFFER ACCEPTANCE AND ORDER RELEASES:

County will accept offers and execute this contract by issue of a MA (recurring requirements) to be effective on the document's date of issue without further action by either party. The MA will document the term of the agreement.

Pursuant to the executed MA, County departments requiring the goods or services defined herein will issue a DO or DOM to the Contractor. County will furnish the DO or DOM to Contractor via facsimile, e-mail or telephone. If County gives the order verbally, the County Department issuing the order will transmit a confirming order document to Contractor within five (5) workdays of the date it gives the verbal order.

Contractor must not supply materials or services that are not specified on the MA and are not documented or authorized by a DO or DOM at the time of provision. County accepts no responsibility for control of or payment for materials or services not documented by a County DO or DOM.

Contractor will establish, monitor, and manage an effective contract administration process that assures compliance with all requirements of this contract. In particular, Contractor will not provide goods or services in excess of the executed contract items, item quantity, item amount, or contract amount without prior written authorization by contract revision that County has properly executed and issued. Any items Contractor provides in excess of those stated in the contract are at

Solicitation No. IFB-PO-2000066

Contractor's own risk. Contractor will decline verbal requests to deliver items in excess of the contract and will report all such requests in writing to the County Procurement Department within one (1) workday of the request. The report must include the name of the requesting individual and the nature of the request.

6. ACCEPTANCE OF GOODS AND SERVICES:

The County Department designated on the issued order DO or DOM will accept goods and services only in accordance with this contract. Such acceptance is a prerequisite to the commencement of payment terms.

7. <u>COMPENSATION & PAYMENT</u>:

The MA issued to accept Contractor's offer will define the not-to-exceed amount of the contract.

Contractor's unit prices must include all incidentals and associated costs required to comply with and satisfy all requirements of this solicitation, which includes the *Instructions to Offerors*, *Standard Terms and Conditions*, and Offer Agreement. County will make no payments for items not in the contract.

Quantities in this solicitation are estimates only. County reserves the right to increase or decrease quantities and amounts. County makes no guarantee regarding actual orders for items or quantities during the term of the agreement. County is not responsible for Contractor inventory or order commitment.

UNIT PRICES (Net 30-day Payment Terms)

See Exhibit A: Unit Prices.

Unless the parties otherwise agree in writing, all pricing will be *F.O.B. Destination & Freight Prepaid Not Billed ("F.O.B. Destination")*. Contractor will deliver and unload products or services at the destination(s) that the delivery section of this contract or accepted *Order* indicates. The offered Unit Price must include all freight costs.

Although an order may not fully define State and City sales tax, County will pay such taxes as are DIRECTLY applicable to County and Contractor invoices such taxes as a separate line item. Contractor must not include such taxes in the item unit price.

Price Warranty. Contractor will give County the benefit of any price reduction before actual time of shipment.

Price Escalation. All unit prices include compensation for Contractor to implement and actively conduct cost and price control activities. Pricing will remain firm during the initial year of the contract term after which the parties may consider price increases no more frequently than once per year. Contractor will submit a written request to County that includes supporting documents justifying requested increases at least ninety (90) days prior to the renewal date. Contractor will provide evidence, cite sources, demonstrate specific conditions and document how those conditions affect the cost of its performance, and identify specific efforts Contractor has taken to control and reduce those and other costs to avoid the need to increase prices. County will review proposed pricing and determine if it is allowable, fair and reasonable, and in the best interest of County to accept the proposal. County reserves the right to continue, accept or reject the price proposal, or terminate and re-solicit the contract.

All pricing will conform to Pima County's Living Wage ordinance if applicable, including required annual adjustments of the wage.

This section is for items that Contractor did not list or price above but are within the defined scope of this contract. Contractor may provide these items under this contract. Contractor will submit Master Price List (MPL) documents, compact disc (CD) or USB flash drive and file names or identify website address, identifying all other items offered pursuant to this contract. The MPL or website address specifically designed for the County must include the vendor's/manufacturer's or retail price list and the discount percentage off utilized to get to include Discounted Unit Price being offered to the County i.e. Manufacturer's List Price – (List price x Discount %) = Discounted Unit Price. The resulting Unit Prices must be of similar discount off List Prices for those items specifically defined above. Item Unit Prices above will govern in case of conflict with the Master Price List.

List MPL Document by Title, MPL Media & Filenames or MPL Internet Address and Title(s)	Qty of Pages	Dated	Percentage Discount (Mfr List Price – (List price x Discount %) = Discounted Unit Price
www.AGSSafety.com	N/A	N/A	N/A

The parties may negotiate and establish unit pricing in writing under the contract for items included in the scope of the contract that does not have previously defined unit pricing.

Standard Payment Term Net (30) is effective from the date of valid invoice document and does not commence until the later of 1) the receiving County Department receives goods or services into County's payment system or 2) County Financial Operations receives and verifies Contractor's invoice.

OPTIONAL EARLY PAYMENT DISCOUNT TERM: Pima County Administrative Procedure No. 22-35 Section 2.2.4 defines County's practice regarding discounts for early payment. Contractor offers the following discounts to those prices to be used for all orders issued pursuant to this contract. County will utilize the existing payment code that best matches that offered and does not exceed the offered discount percentage. Payment days cannot be less than ten (10) calendar days. Contractor will submit valid invoice document consistent with the associated DO or DOM to County Finance Department at least seven (7) calendar days prior to the date on which the discounted payment is due. If desired, for any order issued pursuant with this contract, Contractor may offer early payment discounts that exceed this Early Payment Discount.

Optional Early Payment Discount Percent: _____% if payment is tendered within _____ Days as indicated above.

Contractor will submit Request(s) for Payment or Invoices to the location and entity defined by County's DO or DOM document.

All Invoice documents will reference the County's DO or DOM number under which the services or products were ordered. <u>ALL</u> Invoice line items will utilize the item description, precise unit price <u>and</u> unit of measure defined by the County's order document. County may return invoices that include line items <u>or</u> unit prices that do not match those documented by the County's order to Contractor unprocessed for correction. **Contractor will not accept orders, or provide services or products that cumulatively exceed the contract amount.**

Contractor will provide detailed documentation in support of payment requests, which should be consistent with and not exceed County's DO or DOM document. Contractor will bill County within one (1) month after the date on which Contractor's right to payment accrues ("Payment Accrual Date"), which, unless this contract specifically provides otherwise, is the date Contractor delivers goods, performs services or incurs costs. Invoices must assign each billed amount to an appropriate line item of County's order and document each Payment Accrual Date. County may refuse to pay any amount that Contractor bills in which does not conform to County's DO or DOM document. County will refuse to pay any amount that Contractor bills more than six (6) months after the Payment Accrual Date, pursuant to A.R.S. § 11-622(C).

8. <u>DELIVERY</u>:

"On-Time" delivery is an essential part of the consideration that Contractor is to provide to County under the contract. Contractor will make delivery in accordance with the Instructions to Offerors, Standard Terms and Conditions and to the location(s) on the DO or DOM document.

Delivery will be to various County departments located across Pima County.

Contractor guarantees delivery of product or service in less than seven (7) business days after issue date of order for all items specified on the MA. For items not included on the MA or special order items, estimated delivery date will be communicated at the time of order and updated as necessary. If necessary to satisfy the guaranteed delivery time, Contractor will utilize premium freight method at no additional cost to County.

9. TAXES, FEES, EXPENSES:

Pursuant to IRS Publication 510, County is exempt from federal excise taxes for goods. County is subject to State and City sales tax. County will pay no separate charges for delivery, drayage, express, parcel post, packing, insurance, license fees, permits, costs of bonds, surcharges, or bid preparation unless the contract expressly includes such charges and the solicitation documents itemize them.

10. OTHER DOCUMENTS:

Contractor and County in entering into this contract have relied upon information provided or referenced by Pima County Solicitation No. IFB-PO-2000066 including the Instructions to Offerors, Offer Agreement, Standard Terms and Conditions, Solicitation Amendments, Contractor's Bid Offer, documents submitted by Contractor or References to satisfy Minimum Qualifications and any other information and documents that Contractor has submitted in its response to County's Solicitation. The Contract incorporates these documents as though set forth in full herein, to the extent not inconsistent with the provisions of this contract.

11. INSURANCE:

The Insurance Requirements herein are minimum requirements for this Contract and in no way limit, the indemnity covenants contained in this Contract. Contractor's insurance shall be placed with companies licensed in the State of Arizona and the insureds shall have an "A.M. Best" rating of not less than A- VII. Pima County in no way warrants that the minimum insurer rating is sufficient to protect the Contractor from potential insurer insolvency.

Minimum Scope and Limits of Insurance:

Contractor shall procure and maintain, until all contractual obligations have been discharged, the insurance coverage with limits of liability not less than stated below. Pima County in no way warrants that the minimum insurance limits contained herein are sufficient to protect the Contractor from liabilities that arise out of the performance of the work under this Contract. The Contractor is free to purchase additional insurance that required by the County. If necessary, Contractor may obtain commercial umbrella or excess insurance to satisfy the County's Insurance Requirements.

Commercial General Liability (CGL) – Occurrence Form with limits of \$2,000,000 Each Occurrence and \$2,000,000 General Aggregate. Policy shall include bodily injury, property damage, personal/advertising injury and products – completed operations.

Business Automobile Liability – Bodily Injury and Property Damage for any owned, hired, and/or non-owned automobiles used in the performance of this Contract with a Combined Single Limit (CSL) of \$1,000,000 each accident.

Workers' Compensation (WC) and Employers' Liability – Arizona Statutory requirements and Employer's Liability coverage with policy limits of \$1,000,000 and each accident and each person - disease.

Claim-Made Insurance Coverage - If any part of the Required Insurance is written on a claims-made basis, any policy retroactive date must precede the effective date of this Contract, and Contractor must maintain such coverage for a period of not less than three (3) years following Contract expiration, termination or cancellation.

Additional Insurance Requirements:

The policies shall include, or be endorsed to include, as required by this written agreement, the following provisions: Additional Insured: The General Liability and Business Automobile Liability Policies shall each be endorsed to include Pima County, its departments, districts, boards, commissions, officers, officials, agents, and employees as additional insureds with respect to liability arising out of the activities performed by or on behalf of the Contractor.

Subrogation: The General Liability, Business Automobile Liability and Workers' Compensation policies shall each contain a waiver of subrogation endorsement in favor of Pima County, and its departments, districts, boards, commissions, officers, officials, agents, and employees for losses arising from work performed by or on behalf of the Contractor. Primary Insurance: The Contractor's policies shall stipulate that the insurance afforded the Contractor shall be primary and that any insurance carried by Pima County, its agents, officials, or employees shall be excess and not contributory insurance.

Insurance provided by the Contractor shall not limit the Contractor's liability assumed under the indemnification provisions of this Contract.

Notice of Cancellation:

Each Required Insurance policy must provide, and certificates specify, that County will receive not less than thirty (30) days advance written notice of any policy cancellation, except 10-days prior notice is sufficient when the cancellation is for non-payment of a premium.

Verification of Coverage:

Contractor shall furnish Pima County with certificates of insurance as required by this Contract. An authorized representative of the insurer shall sign the certificates.

All certificates and endorsements, as required by this written agreement, are to be received and approved by Pima County before work commences. Each insurance policy required by this Contract must be in effect at, or prior to, commencement of work under this Contract. Failure to maintain the insurance coverages or policies as required by this Contract, or to provide evidence of renewal, is a material breach of contract.

All certificates required by this Contract shall be sent directly to Pima County Procurement Department. The Certificate of Insurance shall include the Pima County project or contract number and project description on the certificate. Pima County reserves the right to require complete copies of all insurance policies required by this Contract at any time.

Solicitation No. IFB-PO-2000066

Neither the County's failure to obtain a required insurance certificate or endorsement, the County's failure to object to a non-complying insurance certificate or endorsement, or the County's receipt of any other information from the Contractor, its insurance broker(s) and/or insurer(s), constitutes a waiver of any of the Insurance Requirements.

Approval and Modifications:

The Pima County Risk Manager may approve a modification of the Insurance Requirements without the necessity of a formal Contract amendment, but the approval must be in writing.

12. PERFORMANCE BOND:

None.

13. ACKNOWLEDGEMENT of SOLICITATION AMENDMENT(S):

Contractor acknowledges that it incorporates the following solicitation amendments in its offer and this contract:

Amendment #	Date	Amendment #	Date	Amendment #	Date
1	1/21/2020				

14. SMALL BUSINESS ENTERPRISE (SBE) CERTIFICATION:

Is your firm SBE-certified as defined by the solicitation "*Instruction to Offerors*" section? Yes 🗌 No 🗹 (Select one)

If 'Yes', have you included your certification document? Yes 🗌 No 📈 (Select one)

NOTE: If you do not submit the SBE Certification document with your bid, County will not apply the SBE Preference.

15. BID/OFFER CERTIFICATION:

CONTRACTOR LEGAL NAME: Arizona Glove & Safety, Inc
BUSINESS ALSO KNOWN AS: AGS Safety & Supply
MAILING ADDRESS: 3010 S 52nd St
CITY/STATE/ZIP: Tempe, AZ 85282
REMIT TO ADDRESS: P.O. Box 25788
CITY/STATE/ZIP: Tempe, AZ 85285
CONTACT PERSON NAME/TITLE: Abe Alansary, Account Manager
PHONE: 602-568-6290 FAX:
CONTACT PERSON EMAIL ADDRESS: Abe@AZGlove.com
EMAIL ADDRESS FOR ORDERS & CONTRACTS: Sales@AZGlove.com
CORPORATE HEADQUARTERS ADDRESS: 3010 S 52nd St, Tempe, AZ 85282

WEBSITE: WWW.AGSSafety.com

By signing and submitting these Offer Agreement documents, the undersigned certifies that they are legally authorized to represent and bind Contractor to legal agreements, that all information submitted is accurate and complete, that Contractor has reviewed the Pima County Procurement website for solicitation amendments and has incorporated all such amendments to its offer, that Contractor is qualified and willing to provide the items requested, and that Contractor will comply with all requirements of the solicitation. The Unit Pricing includes all costs incidental to the provision of the items in compliance with the above documents; no additional payment will be made. Conditional offers that modify the solicitation requirements may be deemed not 'responsive' and County may not evaluate them. Contractor's submission of a signed offer agreement must constitute a firm offer and upon the issuance of a MA or PO document issued by the Pima County Procurement Director or authorized designee will form a binding contract that will require Contractor to provide the goods or services and materials described in this solicitation. The undersigned hereby offers to furnish the goods or services in compliance with all terms, conditions, specifications that the solicitation defines or references, which includes Pima County Standard Terms & Conditions, this Offer Agreement and other documents as listed in this Offer Agreement's "Other Documents" article.

SIGNATURE: Andy Lara DATE: 1/24/2020

Andy Lara, Contractor PRINTED NAME & TITLE OF AUTHORIZED CONTRACTOR REPRESENTATIVE EXECUTING OFFER

PHONE AND E-MAIL: <u>602-53</u>5-2020 - Contracts@AZGlove.com

County Attorney Contract Approval "As to Form":

PIMA COUNTY STANDARD TERMS AND CONDITIONS

1. OPENING:

Pima County ("County") will publicly open responses on the date and at the location as stated in the *Invitation for Bid (IFB)* or *Request for Proposal (RFP)*. The County will read each respondent's name, and for responses to an IFB will also read the total bid amount. County will open proposals so as to avoid disclosure of the contents of any proposal to competing Offerors during the **evaluation** process. County invites all interested parties to attend the bid opening.

2. EVALUATION:

County will evaluate responses to determine which are most advantageous to County considering conformity to the specifications stated in the IFB, evaluation criteria stated in the RFP, and other factors, regardless of solicitation type.

If County makes an award, County will enter into an agreement with one or more Contractor(s) that submitted the lowest responsive bid(s) or highest scoring proposal that County determined responsible for providing the required goods or services. Unless otherwise specified on the IFB document, County will determine the low or lowest bids considering all items listed in the Unit Price Schedule.

County, at its sole discretion, reserves the following rights: 1) to waive informalities in the bid or bid procedure; 2) to reject the response of any persons or corporations that have previously defaulted on any contract with County or who have engaged in conduct that constitutes a cause for debarment or suspension as set forth in County Code Section 11.32; 3) to reject any and all responses; 4) to re-advertise for bids previously rejected; 5) to otherwise provide for the purchase of such equipment, supplies materials and services as may be required herein; 6) to award on the basis of price and other factors, including but not limited to such factors as delivery time, quality, uniformity of product, suitability for the intended task, and bidder's ability to supply; 7) to increase or decrease the item quantity or eliminate any item of this solicitation prior to the award. Pricing evaluations will be based on pre-tax pricing proposed by Contractor.

3. AWARD NOTICE:

County will post a *Notice of Recommendation for Award* for IFB or RFP on the Procurement website available for review by interested parties. The Procurement Department will maintain a tabulation of the bids or ranking of proposals.

4. <u>AWARD</u>:

Either the Procurement Director or the Board of Supervisors will make the contract award in accordance with the Pima County Procurement Code. County reserves the right to reject any or all proposals, bids or to waive irregularities and informalities in the best interest of County. Unless County expressly agrees otherwise, resulting contracts are not exclusive, they are for the sole convenience of County, and County reserves the right to obtain like goods or services from other sources.

5. <u>WAIVER</u>:

Each Offeror, by submission of a proposal, bid or proposal waives any and all claims for damages against County or its officers or employees when County exercises any of its reserved rights.

6. ACKNOWLEDGEMENT AND ACCEPTANCE:

If Contractor's terms of sale are inconsistent with the terms of the resultant contract, the terms herein will govern, unless County accepts Contractor's terms in writing. No oral agreement or understanding will in any way modify this contract or the terms and conditions herein. Contractor's acceptance, delivery or performance called for herein will constitute unqualified acceptance of the terms and conditions of the resultant contract.

7. INTERPRETATION and APPLICABLE LAW:

The laws of the State of Arizona govern the interpretation and construction of this Contract. If any of Contractors' terms or conditions is not in agreement with County's terms and conditions as set forth herein, County's will govern. This contract incorporates the complete agreement of the parties with respect to the subject matter of this contract. No oral agreement or other understanding will in any way modify the terms and conditions of this contract.

8. <u>WARRANTY</u>:

Contractor warrants goods or services to be satisfactory and free from defects.

9. QUANTITY:

Contractor will not exceed or reduce the quantity of goods ordered without <u>written</u> permission from County in the form of a properly executed Master Agreement ("MA"), Purchase Order ("PO"), Delivery Order ("DO"), or Delivery Order Maximo ("DOM") revision or amendment as the County's Procurement Code requires. All quantities are estimates and County provides no guarantee regarding actual usage.

10. PACKING:

Contractor will make no extra charges for packaging or packing material. Contractor is responsible for safe packaging conforming to carrier's requirements.

11. DELIVERY:

On-time delivery of goods and services is an essential part of the consideration that County will receive.

Contractor must provide a guaranteed delivery date, or interval period from order release date to delivery if the Price proposal document requires it. Upon receipt of notification of delivery delay, County at its sole option and at no cost to County may cancel the order or extend delivery times. Such extension of delivery times will not be valid unless an authorized representative of County extends it to Contractor in writing.

To mitigate or prevent damages from delayed delivery, County may require Contractor to deliver additional quantity utilizing express modes of transport, or overtime, all costs to be Contractor's responsibility. County reserves the right to cancel any delinquent order, procure from an alternate source, or refuse receipt of or return delayed deliveries, all at no cost to County. County reserves the right to cancel any order or refuse delivery upon default by Contractor concerning time, cost, or manner of delivery.

Contractor is not responsible for unforeseen delays caused by fires, strikes, acts of God, or other causes beyond Contractor's control, provided that Contractor provides County immediate notice of delay.

12. SPECIFICATION CHANGES:

County has the right to make changes in the specifications, services, or terms and conditions of an order. If such changes cause an increase or decrease in the amount due under an order or in time required for performance, County will make an acceptable adjustment and will modify the order in writing. No verbal agreement for adjustment is acceptable.

Nothing in this clause reduces Contractor's' responsibility to proceed without delay in the delivery or performance of an order.

13. INSPECTION:

County may inspect or test all goods and services at place of manufacture, destination, or both. Contractor will hold goods failing to meet specifications of the order or contract at Contractor's risk and County may return such goods to Contractor with costs for transportation, unpacking, inspection, repacking, reshipping, restocking or other like expenses to be the responsibility of Contractor. In lieu of return of nonconforming supplies, County, at its sole discretion and without prejudice to County's rights, may waive any nonconformity, receive the delivery, and treat the defect(s) as a warranty item, but any waiver of any condition will not apply to subsequent shipments or deliveries.

14. SHIPPING TERMS:

Unless the contract states otherwise, delivery terms are to be F.O.B. Destination & Freight Prepaid Not Billed ("F.O.B. Destination") and Contractor is to include such terms in its Unit Price proposal.

15. PAYMENT TERMS:

Payment terms are net thirty (30) days, unless the contract specifies otherwise.

16. ACCEPTANCE OF MATERIALS AND SERVICES:

County will not execute an acceptance or authorize payment for any service, equipment or component prior to delivery and verification that the delivery meets all specification requirements.

17. <u>RIGHTS AND REMEDIES OF COUNTY FOR DEFAULT</u>:

In the event any item that Contractor furnishes in the performance of the contract should fail to conform to the specifications thereof, or to the sample that Contractor submitted, County may reject same, and it thereupon becomes the duty of Contractor to reclaim and remove the same, without expense to County, and immediately replace all such rejected items with others conforming to the specifications or samples. Should Contractor fail, neglect, or refuse immediately to do so, County has the right to purchase in the open market, in lieu thereof, a corresponding quantity of any such items and to deduct from any monies due or that may become due to Contractor the difference between the price named in the MA or Purchase Order ("PO") and the actual cost to County.

In the event Contractor fails to make prompt delivery as specified of any item, the same conditions as to the rights of County to purchase in the open market and invoke the reimbursement condition above apply, except when delivery is delayed by fire, strike, freight embargo, or acts of god or of the government. In the event of cancellation of the MA, PO or associated orders, either in whole or in part, by reason of the default or breach by Contractor, Contractor will bear and pay for any loss or damage sustained by County in procuring any items which the Contractor agreed to supply. The rights and

remedies of County provided above are not exclusive and are in addition to any other rights and remedies provided by law or under the contract.

18. FRAUD AND COLLUSION:

Each Contractor, by submission of a bid, certifies that no officer or employee of County or of any subdivision thereof: 1) has aided or assisted Contractor in securing or attempting to secure a contract to furnish labor, materials or supplies at a higher price than that proposed by any other Contractor; 2) has favored one Contractor over another by giving or withholding information or by willfully misleading the bidder in regard to the character of the material or supplies called for or the conditions under which the proposed work is to be done; 3) will knowingly accept materials or supplies of a quality inferior to those called for by any contract; 4) has any direct or indirect financial interest in the proposal or resulting contract. Additionally, during the conduct of business with County, Contractor will not knowingly certify, or induce others to certify, to a greater amount of labor performed than has been actually performed, or to the receipt of a greater amount or different kind of material or supplies that has been actually received. If County finds at any time that Contractor has in presenting any proposal(s) colluded with any other party or parties for the purpose of preventing any other proposal being made, then County will terminate any contract so awarded and that person or entity will be liable for all damages that County sustains.

19. COOPERATIVE USE OF RESULTING CONTRACT:

As allowed by law, County has entered into cooperative procurement agreements that enable other Public Agencies to utilize procurement agreements that County has developed. Participating agencies may contact Contractor with requests to provide services and products pursuant to the pricing, terms and conditions defined by the County MA, or PO. Minor adjustments are allowed subject to agreement by both Contractor and Requesting Party to accommodate additional cost or other factors not present in the County's agreement and required to satisfy particular Public Agency code or functional requirements and within the intended scope of the solicitation and resulting contract. The parties to the cooperative procurement rules, regulations and requirements. Contractor will hold harmless County, its officers, employees, and agents from and against all liability, including without limitation payment and performance associated with such use. Contractor may view a list of agencies that are authorized to use County contracts at the Procurement Department Internet home page: http://www.pima.gov/procure by selecting the link titled *Authorized Use of County Contracts*.

20. PATENT INDEMNITY:

Contractor will indemnify, defend and hold County, its officers, agents and employees, harmless from liability of any nature or kind, including costs and expenses, for infringement or use of any copyrighted composition, secret process, patented or unpatented invention, article or appliance furnished or used in connection with the MA, PO, and associated orders. County may require Contractor to furnish a bond or other indemnification to County against any and all loss, damage, costs, expenses, claims and liability for patent or copyright infringement.

21. INDEMNIFICATION:

Contractor will indemnify, defend, and hold harmless County, its officers, employees and agents from and against any and all suits, actions, legal administrative proceedings, claims or demands and costs attendant thereto, arising out of any act, omission, fault or negligence by Contractor, its agents, employees or anyone under its direction or control or on its behalf in connection with performance of the MA, PO or associated orders. Contractor warrants that all products and services provided under this contract are non-infringing. Contractor will indemnify, defend and hold County harmless from any claim of infringement arising from services provided under this contract or from the provision, license, transfer or use for their intended purpose of any products provided under this Contract.

22. UNFAIR COMPETITION AND OTHER LAWS:

Responses must comply with Arizona trade and commerce laws (Title 44 A.R.S.) and all other applicable County, State, and Federal laws and regulations.

23. COMPLIANCE WITH LAWS:

Contractor will comply with all federal, state, and local laws, rules, regulations, standards and Executive Orders, without limitation. In the event any services that Contractor provides under this contract require a license issued by the Arizona Registrar of Contractors (ROC), Contractor certifies that a Contractor licensed by ROC to perform those services in Arizona will provide such services. The laws and regulations of the State of Arizona govern the rights, performance and disputes of and between the parties. Any action relating to this Contract must be filed and maintained in a court of the State of Arizona in Pima County.

Any changes in the governing laws, rules, and regulations during an agreement apply, but do not require an amendment or revisions.

24. ASSIGNMENT:

Contractor may not assign its rights to the contract, in whole or in part, without prior written approval of County. County may withhold approval at its sole discretion, provided that County will not unreasonably withhold such approval.

25. CANCELLATION FOR CONFLICT OF INTEREST:

This contract is subject to cancellation pursuant to A.R.S. §§38-506 and 38-511, the pertinent provisions of which are incorporated into this Contract by reference.

26. NON-DISCRIMINATION:

CONTRACTOR agrees to comply with all provisions and requirements of Arizona Executive Order 2009-09 which is hereby incorporated into this contract as if set forth in full herein <u>including flow down of all provisions and</u> <u>requirements to any subcontractors</u>. During the performance of this contract, Contractor must not discriminate against any employee, client or any other individual in any way because of that person's age, race, creed, color, religion, sex, disability or national origin.

27. NON-APPROPRIATION OF FUNDS:

County may cancel this contract pursuant to A.R.S. § 11-251(42) if for any reason the County Board of Supervisors does not appropriate funds for the stated purpose of maintaining the contract. In the event of such cancellation, County has no further obligation, other than payment for services or goods that County has already received.

28. PUBLIC RECORDS:

<u>Disclosure</u>. Pursuant to A.R.S. § 39-121 et seq., and A.R.S. § 34-603(H) in the case of construction or Architectural and Engineering services procured under A.R.S. Title 34, Chapter 6, all documents submitted in response to the solicitation resulting in award of this Contract, including, but not limited to, pricing schedules, product specifications, work plans, and any supporting documents are public records. As such, those documents are subject to release and/or review by the general public upon request, including competitors.

<u>Records Marked Confidential; Notice and Protective Order</u>. If Contractor reasonably believes that some of those records contain proprietary, trade-secret or otherwise-confidential information, Contractor must prominently mark those records "CONFIDENTIAL." In the event a public-records request is submitted to County for records marked CONFIDENTIAL, County will notify Contractor of the request as soon as reasonably possible. County will release the records 10 business days after the date of that notice, unless Contractor has, within that period, secured an appropriate order from a court of competent jurisdiction, enjoining the release of the records. County will not, under any circumstances, be responsible for securing such an order, nor will County be in any way financially responsible for any costs associated with securing such an order.

The Contractor agrees to waive confidentiality of any price terms in the event of a contract award.

29. CUSTOM TOOLING, DOCUMENTATION AND TRANSITIONAL SUPPORT:

Costs to develop all tooling and documentation, such as and not limited to dies, molds, jigs, fixtures, artwork, film, patterns, digital files, work instructions, drawings, etc. necessary to provide the contracted services or products and unique to the services or products supplied to County are included in the agreed upon Unit Price unless the contract specifically states otherwise. Such tools and documentation are the property of County and will be marked, as is practical, as the "Property of Pima County" and County so requests, Contractor will deliver a copy of the tooling and documentation to County within twenty (20) days of acceptance by County of the first article sample, or not later than ten (10) days of termination of the contract associated with their development, without additional cost to County. Contractor also agrees to act in good faith to facilitate the transition of work to a subsequent Contractor if and as reasonably requested by County at no additional cost. Should exceptional circumstances be present that may justify an additional charge, Contractor may submit said justification and proposed cost and negotiate an agreement acceptable to both Contractor and County, but Contractor may not withhold any requested tooling, document or support as defined above that would delay the orderly, efficient and prompt transition of work. Should conduct by Contractor result in additional costs to County, Contractor will reimburse County for said actual and incremental costs provided that County has given Contractor reasonable time to respond to County's requests for support.

30. AMERICANS WITH DISABILITIES ACT:

Contractor will comply with all applicable provisions of the Americans with Disabilities Act (public law 101-336, 42 USC 12101-12213) and all applicable federal regulations under the act, including 28 CFR parts 35 and 36.

31. NON-EXCLUSIVE:

Contracts resulting from this solicitation are non-exclusive and are for the sole convenience of County, which reserves the right to obtain like goods and services from other sources for any reason.

32. PROTESTS:

An interested party may file a protest regarding any aspect of a solicitation, evaluation, or recommendation for award. Protests must be in accordance with the Pima County Procurement Code, Section 11.20.010.

33. TERMINATION:

County reserves the right to terminate any MA, PO, Delivery Order, DOM or award, in whole or in part, at any time, without penalty or recourse, when in the best interests of County. Upon receipt of written notice, Contractor will immediately cease all work as directed by the notice, notify all subcontractors of the effective date of termination and take appropriate actions to minimize further costs to County. In the event of termination under this paragraph, all documents, data, and reports prepared by Contractor under the contract become the property of County and Contractor must promptly deliver them to County. Contractor is entitled to receive just and equitable compensation for work in progress, work completed and materials accepted before the effective date of the termination.

34. ORDER OF PRECEDENCE-CONFLICTING DOCUMENTS:

In the event of inconsistencies between contract documents, the following is the order of precedence, superior to subordinate, that will apply to resolve the inconsistency: MA, DO or DOM, PO, Offer Agreement or contract attached to a MA, PO, DO or DOM; these standard terms and conditions; any other solicitation documents.

35. INDEPENDENT CONTRACTOR:

The status of Contractor is that of an independent Contractor. Contractor and Contractor officer's agents or employees are not considered employees of County and are not entitled to receive any employment-related fringe benefits under the County Merit System. Contractor is responsible for payment of all federal, state and local taxes associated with the compensation received pursuant to this Contract and will indemnify and hold County harmless from any and all liability which County may incur because of Contractor's failure to pay such taxes. Contractor is solely responsible for its program development and operation.

36. BOOKS AND RECORDS:

Contractor will keep and maintain proper and complete books, records and accounts, which will be open at all reasonable times for inspection and audit by duly authorized representatives of County. In addition, Contractor will retain all records relating to this contract at least five (5) years after its termination or cancellation or, if later, until any related pending proceeding or litigation has been closed.

37. COUNTERPARTS:

The parties may execute the MA or PO that County awards pursuant to this solicitation in any number of counterparts, and each counterpart is considered an original, and together such counterparts constitute one and the same instrument.

For the purposes of the MA and PO, the signed proposal of Contractor and the signed acceptance of County are each an original and together constitute a binding MA, if all other requirements for execution are present.

38. <u>AUTHORITY TO CONTRACT</u>:

Contractor warrants its right and power to enter into the MA or PO. If any court or administrative agency determines that County does not have authority to enter into the MA or PO, County is not liable to Contractor or any third party by reason of such determination or by reason of the MA or PO.

39. FULL AND COMPLETE PERFORMANCE:

The failure of either party to insist on one or more instances upon the full and complete performance with any of the terms or conditions of the MA, PO, DO or DOM to be performed on the part of the other, or to take any action permitted as a result thereof, is not a waiver or relinquishment of the right to insist upon full and complete performance of the same, or any other covenant or condition, either in the past or in the future.

The acceptance by either party of sums less than may be due and owing it at any time is not an accord and satisfaction.

40. SUBCONTRACTORS:

Contractor is fully responsible for all acts and omissions of any subcontractor and of persons directly or indirectly employed by any subcontractor, and of persons for whose acts Contractor may be liable to the same extent that Contractor is responsible for the acts and omissions of persons that it directly employs. Nothing in this contract creates any obligation on the part of County to pay or see to the payment of any money due any subcontractor, except as may be required by law.

41. <u>SEVERABILITY</u>:

Each provision of this Contract stands alone, and any provision of this Contract that a court finds to be prohibited by law is ineffective to the extent of such prohibition without invalidating the remainder of this Contract.

42. LEGAL ARIZONA WORKERS ACT COMPLIANCE:

For the procurement of services in the State of Arizona, Contractor hereby warrants that it will at all times during the term of this Contract comply with all federal immigration laws applicable to Contractor's employment of its employees, and with the requirements of A.R.S. § 23-214 (A) (together the "State and Federal Immigration Laws"). Contractor will further ensure that each subcontractor who performs any work for Contractor under this contract likewise complies with the State and Federal Immigration Laws.

County has the right at any time to inspect the books and records of Contractor and any subcontractor in order to verify such party's compliance with the State and Federal Immigration Laws.

Any breach of Contractor's or any subcontractor's warranty of compliance with the State and Federal Immigration Laws, or of any other provision of this section, is a material breach of this Contract subjecting Contractor to penalties up to and including suspension or termination of this Contract. If the breach is by a subcontractor, and the subcontract is suspended or terminated as a result, Contractor will take such steps as may be necessary to either self-perform the services that would have been provided under the subcontract or retain a replacement subcontractor as soon as possible so as not to delay project completion.

Contractor will advise each subcontractor of County's rights, and the subcontractor's obligations, under this section by including a provision in each subcontract substantially in the following form:

"Subcontractor hereby warrants that it will at all times during the term of this contract comply with all federal immigration laws applicable to Subcontractor's employees, and with the requirements of A.R.S. § 23-214 (A). Subcontractor further agrees that County may inspect the Subcontractor's books and records to ensure that Subcontractor is in compliance with these requirements. Any breach of this paragraph by Subcontractor is a material breach of this contract subjecting Subcontractor to penalties up to and including suspension or termination of this contract."

Any additional costs attributable directly or indirectly to remedial action under this section is the responsibility of Contractor. In the event that remedial action under this section results in delay to one or more tasks on the critical path of Contractor's approved construction or critical milestones schedule, such period of delay will be excusable delay for which Contractor is entitled to an extension of time, but not costs.

43. CONTROL OF DATA PROVIDED BY COUNTY:

For those projects and contracts where County has provided data to enable the Contractor to provide contracted services or products, unless County otherwise specifies and agrees in writing, Contractor will treat, control and limit access to said information as confidential and will under no circumstances release any data provided by County during the term of this contract and thereafter, including but not limited to personal identifying information as defined by A.R.S. § 44-1373, and Contractor is further prohibited from selling such data directly or through a third party. Upon termination or completion of the contract, Contractor will either return all such data to County or will destroy such data and confirm destruction in writing in a timely manner not to exceed sixty (60) calendar days.

44. ISRAEL BOYCOTT CERTIFICATION:

Pursuant to A.R.S. § 35-393.01, if Contractor engages in for-profit activity and has 10 or more employees, and if this Contract has a value of \$100,000.00 or more, Contractor certifies it is not currently engaged in, and agrees for the duration of this Contract to not engage in, a boycott of goods or services from Israel. This certification does not apply to a boycott prohibited by 50 U.S.C. § 4842 or a regulation issued pursuant to 50 U.S.C. § 4842.

END OF PIMA COUNTY STANDARD TERMS AND CONDITIONS

L

•

Г

	IL EM NAME Iterns to notuce and satisfy all Solicitation & Offer Agreement requirements. General & Item Specifications	MANUFACTURER & PART NUMBER	MANUFACTURER & PART NUMBER For substitute items provide the manufacturer and model number of offered item	ESTIMATED ANNUAL USAGE QUANTITY		UNIT OF UNIT PRICE \$ MEASURE (UOM)	EXTENDED AMOUNT \$
-	Adhesive Tape 1/2" X 15'	Medique 60701	AGS Item ID: 02-60701	48	ROLL	\$1.24	\$59.52
~	Adhesive Tape Tri-Cut 2" X 15'	Medique 61.101	AGS Item ID: 02-61101	36	ROLL	\$2.91	\$104.76
	Alcohol Pad 50 Count	Medique 22150	AGS Item ID: 15-22150	100	BOX	\$1.35	\$135,00
4	Ammonia Inhalant 600CG 10 Count	Certified Safety Manufacturing R519-559	AGS Item ID: R519-559	96 96	BOX	\$3.01	\$288.96
"	Antacid Tablets 250 Count (125 Packets w/ 2 tablets ea)	Medique 80248	AGS Item ID: 17-80248	R	BOX	\$6.04	\$217.44
۰ ص	Antibiotic Triple Treatment 25 Count	Medique 22373	AGS Item ID: 23-22373	48	BOX	\$2.90	\$139.20
~ •	Antiseptic Pump Spray 2 OZ	Medique 24402	AGS Item ID: 15-24402	42	BOTTLE	\$1.87	\$78.54
χ, α	Antiseptic Wipes 5" X 7" 10 Count	Certified Safety Manufacturing 675	AGS Item ID: 675	100	BOX	\$1.32	\$132.00
n Ş	Antiseptic Wipes 5" X 7" 20 Count	Medique 21471	AGS Item ID: 15-21471	600	BOX	\$1.16	\$696.00
- :	Bandage Butterfly Closures Medium 16 Count	Medique 60275	AG\$ Item ID: 01-60275	96	BAG	\$1.47	\$141.12
= \$	Bandage Fingertip/Knuckle Woven 9 Count (5 Fingertip & 4 Knuckle)	Certified Safety Manufacturing R210-019	AGS Item ID: 689	96	BOX	\$1.40	\$134.40
<u>1</u>		Medique 61450	AGS Item ID: 01-61450	48	g	\$2.25	\$108.00
2 7	Bandage Faton Woven Z. X.3. Z5 Loum Bandage Plastir Strin 1." Y 2." 100 Count	Medique 61873	AGS Item ID: 01-61873	22	BOX	\$2.57	\$185.04
14	Portage Flastic Strip 1 A 3 400 COURT	Miedique 60033	AGS Item ID: 01-60033	125	ВŐ	\$2.32	\$290,00
e le	Banket Vellow 54" Y 20"	Lertified Safety Manufacturing 536	AGS Item ID: 636	48	ğ	\$1.25	\$60.00
4	Bloodstopper Compress Dress 9" X 5"	Madimie 64101	AGS [121 D2: 55-1003	400	₹ i	20.99	\$1,596.00
₽	Burn Cream 1 Gram Packet 25 Count	Interridue 0402	AGS IREM ID; U0-041U1		3	19728	\$1,285.00
19	Burn Pump Spray 2 02	Medicule 2007.0	AGS Item ID: 45-24073	88	ЭĽ	93.UU	\$108.00
2	CPR Protector W/Nitrile Gloves 2 Units	Certified Safety Manufacturing 810Y	AGS [box 10: 040V	g g		10.14	20.8714
21	Eye Wash 1 Oz	Medique 19828	AGS Item ID: 24-19828	88	55	94.90 S1 CS	\$104.1b
ដ	Eve Wash Isotonic Flushing Solution 16 OZ	Medique 21511	AGS Item ID: 24-21511	98	s L	SR 25	5225 00
8	Eye Wash Isotonic Flushing Solution 4 OZ	Medique 19818	AGS Item ID: 24-19818	8 8	BOTLF	\$2.16	\$77.76
7	Eve Wash Isotonic Flushing Solution 8 OZ	Medique 21508	AGS Item ID: 24-21508	36	BOTTLE	\$3.31	\$119,16
នុ	Tweezers Disposable Single Sealed 100 Count	Medique 77233	AGS Item ID: 32-77233	144	BAG	\$0.15	\$21.60
6 5	I Weezers Stainless Steel 3"	Medique 72001	AGS Item ID: 32-49320	96	PAIR	\$0.34	\$32.64
5 8	Paulous Call Off Course	3M 8516491	AGS Item ID: 8516491	16	£	\$130.84	\$2,093.44
3 g	paraana, coor-orrs Urange Bitniv Toot Solution & Count	Allegro 8405-55	AGS (tem ID: 8405-55	906	ĒĀ	\$1.39	\$1,251.00
3 2	Pilux restolución o count Brok Ameria Zees Pauder Free Athelia Freed - Freed	Allegro 2041-12K	AGS Item ID: 2041-12K	24	BOX	\$10.73	\$257.52
3 10	piack Oragoni zeru rowder Free Nicrije Exam Large Black Dragon Zero Powder Free Nicrije Even Viacre	Microflex BU-1003-NPF-L	AGS Item ID: BD-1003-NPF-L	8	ğ	\$10.16	\$365.76
8	Boots PVC Plain Toe Black Size 10	Diremont 1551-10		8	ğ	\$10.16	\$365.76
8	Boots PVC Plain Toe Black Size 11	DT-TCCT JEAN ON TO TT-TC	AGS Item ID: 90SI A-10	24	PAIR	\$11.27	\$270.48
34	Boots PVC Plain Toe Black Size 12	Durawear 1551-12	AGS frem IU: 90STA 12	24	PAR	\$11.27	\$270.48
35	Boots PVC Plain Toe Black Size 13	Durawear 1551-13	AGS Item ID: 90STA-13	57		\$11.27	\$270.48
36	Boots PVC Plain Toe Black Size 9	Durawear 1551-9	AGS Item ID; 90STA-09	54	PAIR	\$11.27	\$270,48
16	Bracket for 3400942	3M 3401025	AGS Item ID: 3401025	12	2	\$104.82	\$1,257.84
8 8	Lable Ketneval Sealed Self Retracting Lifeline 50' Stainless Steel	3M 3400942	AGS Item ID: 3400942	12	B	\$3,753.25	\$45,039.00
8 5	Cold Fack Large boxed Cone DMC 70" 71 D Ominion un' Buello atime Colline.	Medique 70201	AGS Item ID: 30-70201	500	BOX	\$1.19	\$595.00
₽	Cone PVC 35" 1018 Drange w/ Reflective Collars	BC Safety Plastic KS /U032C13M6	AGS Item ID: CONE-28RF	9 <u>0</u>	З	\$14.59	\$10,213.00
4	Cone Traffic 28" 7 LB Orange Wide Body	IBC Safety Plactic R20043CF 3140		8 4 4	5 i	\$18.39	\$882.72
43	Cooling Towel Blue Cold-Snap - 13" X 33.5"	Cordova CT100	AGS Item ID: CT100	64 64	51	87'R¢	\$450.72 \$17.02
4	Cooling Towel Blue Evaporative Microfiber Chill-lits 9" X 41"	Ergodyne 6602MF	AGS Item ID: 6602MF	₽ \$	5	56.88	5330.24
45	Coverall Tyvek Zipper Front No Hood 3XLarge	Dupont TY120SWH-3X	AGS Item ID: TY120SWH-3XL	24	i 🖆	\$4.60	\$110.40
8 i	Coverall Tyvek Zipper Front No Hood Large	Dupont TY120SWH-L	AGS Item ID: TY120SWH-L	24	ß	\$4.14	\$99.36
4	Coverall Tyvek Zipper Front No Hood XLarge	Dupont TY1205WH-XL	AGS Item ID: TY120SWH-XL	24	E	\$4.10	\$98.40
9 9	Loverall I yvek Lipper Front No Hood XXLarge Duiet October Maark 10 Count	Dupont TY120SWH-2X	AGS Item ID: TY120SWH-2XL	24	£	\$4.35	\$104.40
P 53	Ear Plune Form Condition 200 Found	Moldex 2400N95	AGS Item ID: 2400N95	100	BAG	\$35.01	\$3,501.00
3 2	car Flugs roam cordiess 200 count	Honeywell Safety MAX-1	AGS Item ID: MAX-1	36	BOX	\$22.63	\$814.68
;		I BM PI301	AGS Item ID: P1301	99	ž	\$64.48	\$2,321,28

.

•

8
5
9
ŝ
÷.
÷
Ś
Sa
Ĕ
ĕ
Ъ.
5
a
Ë
ŝ
Ð.
5
đe
F

		EXHIBIT A: UNIT PRICES					
ITEM #		MANUFACTURER & PART NUMBER	MANUFACTURER & PART NUMBER For substitute tiems provide the manufacturer and model number of offered item	ESTIMATED ANNUAL USAGE QUANTITY	UNIT OF MEASURE (UOM)	UNIT PRICE \$	EXTENDED AMOUNT \$
52	Ear Plugs Soft Super Fit w/Cord 33 Decibal NRR - 200 Count	3M 311-1254	AGS Item ID: 311-1254	8	BOX	\$47.06	\$1,694.16
53	Ear Plugs w/Cords 33 Decibal NRR 100 Count	Honeywell Safety MAX-30	AGS Item ID: MAX-30	150	ВÖ	\$21.84	\$3,276.00
2	Earmuff Headband Leightning L3 30 Decibat NRR	Honeywell Safety 1010924-H5	AGS Item ID: EM-QM31	100	PAIR	\$20.17	\$2 017.00
55	Eye Wash Station	Certified Safety Manufacturing K611-018	AGS Item ID: EWSN-216	5	₫	\$20.74	\$103.70
9 <u>5</u>	First Aid Kit 50 Person Metal Class 8 one shelf	Medique 887ANSI	AGS Item ID: 887ANSI	24	EA	\$58.15	\$1,395.60
22	First Aid Kit Metal 2 Shelf Filled	Medique 756ANSi	Discontinued Replaced with AGS Item ID: 984ANSISK	36	EA	\$96.74	\$3,482.64
58	Gauze Pads Sterile 3" X 3" 10 Count	Medique 61212	AGS Item ID: 06-61212	99	ğ	\$1.35	\$81.00
53	Gauze Pads Sterile 3" X 3" 25 Count	Medique 61273	AGS Item ID: 06-61273	48	BOX	\$2.37	\$113.76
8	Gauze Pads Sterile 4" X 4" 10 Count	Medique 62012	AGS Item ID: 06-62012	100	ВÖХ	\$1.46	\$146.00
5	Glasses Safety 4100 Series Clear Frame Clear Lens	Pyramex S4110S	AGS Item ID: S4110S	2500	EA	\$0.75	\$1,875.00
53	Glasses Safety 4100 Series Gray Frame Gray Lens	Pyramex S4120S	AGS Item ID: S4120S	1200	EA	\$0.81	\$972,00
8	Glasses Safety Alair Clear Lens	Pyramex S3210S	AGS Item ID: S3210S	1500	EA	08.0\$	\$1,200.00
3	Glasses Safety Alair Gray Frame Gray Lens	Pyramex 532205	AGS Item ID: S3220S	800	₫	\$0.99	\$792.00
8	Glasses Safety Equalizer Mirror Frame Clear Lens	Smith & Wesson 21296	AGS Item ID: 21296	350	E	\$6.58	\$2,303.00
8 5	Glasses Safety Intrepid Black Frame Gray Lens	Pyramex SB8820S	AGS Item ID: SB8820S	96	A	\$2.65	\$254.40
2	Glasses Safety OTG Black Frame Clear Lens	Kleenguard 20746	AGS Item ID: 20746	150	₫	\$4,81	\$721.50
8	Glasses Safety OTG Black Frame Smoke Lens	Kleenguard 20747	AGS Item ID: 20747	100	Ð	\$5.87	\$587,00
8 F	Glasses Safety V2 Readers Black Frame Clear Lens 1.5 Diopter	Pyramex 5B1810R15	AGS Item ID: SB1810R15	125	₫	\$4.58	\$572.50
2	Glasses Safety V2 Readers Black Frame Gray Lens 1.5 Diopter	Pyramex 5B1B20R15	AGS Item ID: SB1820R15	125	EA	\$4.88	\$610.00
- 5	Glove Uriver Grain Pigskin Keystone Inumb-Medium	Liberty Glove and Safety 7017-M	AGS Item ID: 855P-M	1200	PAIR	\$3.04	\$3,648.00
2 4		Liberty Glove and Safety 8247-L	AGS Item ID: 922-L	100	PAIR	\$2.02	\$202.00
2 7	Clave briver split Leatner-KLarge	Liberty Glove and Safety 8247-XL	AGS Item ID: 922-XI.	140	PAIR	\$2.02	\$282.80
: F		Liperty glove and safety 6147-L	AGS Item IU: 945-L	382	PAIR	\$2.40	\$916.80
2 18	Girvie Driver Standard Grain Cownide, Neystone Inumn (Negum	Liberty Glove and Safety 5147-M	AGS Item ID: 945-M	382	PAIR	\$2,40	\$916.80
F	Give Driver Standard Grain Cowinds, Revenue Hudillo Sitiali Give Driver Standard Grain Cowhida, Kavetona Thumb VI mena	Libration of the state of the s	AGS Item ID: 945-S	112	PAIR	\$2.40	\$268,80
82	Glove Driver Standard Grain Kevetone Thumb-Large	LIDELLY GLAVE and Safery D447-XL	AGS Item ID: 945-XL	1200	RAR	\$2.40	\$2,880.00
62	Glove Driver Standard Grain Kevstone Thumb-XI area	Liverty Glove and Safety H0127F-V	AGS Item ID: HD13(F-E (UOZEN)	400	HAR	10.44	\$1,628.00
8	Glove Driver Top Grain Split Leather Back-Laree	liberty Glove and Safety £447-1		000	HAY Y	10.44 61.90	92,U35,UU
8	Glove Driver Top Grain Split Leather Back-Med	Liberty Glove and Safety 6447-M	AGO Item ID: 6447-L AGS Item ID: 6447.M	070		92.30 27 70	8717 00 8717 00
82	Glove Driver Top Grain Split Leather Back-XLarge	Liberty Glove and Safety 6447-XL	AGS Item ID: 6447.XI	250		\$7.39	\$507.50
8	Glove G-Tek Maxifiex Black Micro Foam Nitrile Coated Palm-Medium	PIP 34-874-M	AGS them ID: 34,874.M	3		83.01	00.100¢
2	Glove, Puncture Resistant, Sharpsmaster HV Large	Hexarmor 7082-L (9)	AGS Item ID: 7082-L	8	PAIR	\$44.51	\$1.602.36
8	Glove, Puncture Resistant, Sharpsmaster HV Medium	Hexarmor 7082-M (8)	AGS Item ID: 7082-M	36	PAR	\$44.51	\$1,602.36
8	Glove, PunctureResistant, Sharpsmaster HV XLarge	Hexarmor 7082-XL(10)	AGS Item ID: 7082-XL	36	PAIR	\$44.51	\$1,602.36
200	Gloves Disposable Blue Nitrile 4mil Large 100 Count	Liberty Glove & Safety F2010MLC-L	AGS Item ID: F2010MLC-L	142	BOX	\$4.70	\$667.40
8 8	Gloves Disposable Blue Nitrile 4mil Medium 100 Count	Liberty Glove & Safety F2010MLC-M	AGS Item ID: F2010MLC-M	264	ğ	\$4.70	\$1,240.80
8 8	Gloves Disposable Write Latex 3.5mil 200 Count Gloves Disposable Dive Niterio Amil VI and 100 Count	Liberty Glove and Safety T2810W	AGS Item ID: 370PF-L	48	Ň	\$3.36	\$161.28
;	DIOVES DISPROSABLE BIRE HITTILE ATTITI ALAR BE TOU COULT	Showa /UUSPFXL	AGS Item ID: 7005PF-XL	800	BÖX	\$10.40	\$8,320.00
5	Gloves, High Risk Nitrile Exam Glove, Lifestar, Large 100 Count per Box, 10 Box Per Case	Microflex LSE-104-L	AGS Item ID: LSE-104-L	36	CASE	\$18.57	\$668.52
92	Gloves, High Risk Nitrile Exam Glove, Lifestar, Medium 100 Count per Box, 10 Box Per Case	Microflex LSE-104-M	AGS Item ID: LSE-104-M	g	CASE	\$18.57	\$668.52
8	Gloves, High Risk Nitrile Exam Glove, Lifestar, Small 100 Count per Box, 10 Box Per Case	Microflex LSE-104-5	AGS Item ID: LSE-104-S	98	CASE	\$18.57	\$668.52
9	Gloves, High Risk Nitrile Exam Glove, Lifestar, Xlarge 100 Count per Box, 10 Box Per Case	Microflex LSE-104-XL	AGS Item ID: I,SE-104-XL	θŔ	CASE	\$18.57	\$668.52
88	Hard Hat Bullard Full Brim White w/ 6-point Ratchet Suspension	Buliard 33WHR	AGS Item ID: HCC33R-W	116	EA	\$15.82	\$1,835.12
9 E	Hard Hat Sun Shade for Bullard Full Brim	Paulson A-S4-B2	AGS Item ID: HCSHD-BULFB	36	EA	\$11.27	\$405.72
	Harness Revolution Vinyl Coated w Back D Ring and 400 LB Load Capacity	Honeywell Safety RPC-TB/S/MGN	AGS Item ID: RPC-TB/S/MGN	4	Ð	\$237.14	\$11,382,72

.

3

ITEM #	ITEM NAME Items to include and satisfy all Solicitation & Offer Agreement requirements. General & Rem Specifications	MANUFACTURER & PART NUMBER	nodel	ESTIMATED ANNUAL USAGE QUANTITY	UNIT OF MEASURE (UOM)	UNIT PRICE \$	EXTENDED AMOUNT \$
98	Harness w/ 3 D-Rings and Back Pad and 400 LB Load Capacity	Honeywell Safety 650T-61/LGK	Discontinued Reptaced with AGS Item (D: T4577/UAK	48	EA	\$79,39	\$3,810.72
	Hat Ranger Khaki Large	Mitracool 962-Khaki-L	AGS Item ID: 962-KHAKI-L	650	EA	\$10.17	\$6,610.50
ŝ	Hat Ranger Khaki XLarge	Miracool 962-Khaki-XL	AGS Item ID: 962-KHAKI-XL	800	EA	\$10.17	\$8,136.00
Т	Hat, Ranger Glowear Hi-Viz Large/Xlarge	Ergodyne 23258	AGS Item ID: 23258	100	E	\$8.58	\$858.00
Ë	Hoist System 5-Piece	3M 8518000	AGS Item ID: 8518000	12	₫	\$4,594.70	\$55,136.40
ŝ	Lens Cleaning Wipes 100 Count	Bausch & Lomb BAL8574GM	AGS Item ID: BAI,8574GM	100	ğ	\$11.86	\$1,186.00
104	Lens Towelette 100/Box	Pyramex MS93170		006	BOX		\$0.00
105	Lock Out Tag Do Not Operate Equipment 25 Count	Brady 66050	AGS Item ID: 01-66050	900	PACK	\$6.85	\$6,165.00
106	Lockout Hasp 1-1/2"	ABUS 93201B	AGS Item ID: 93201B	92	EA	\$4.92	\$452.64
107	Mounting Bracket for SRL & Winch	3M 8510207	AGS Item ID: 8510207	16	Ā	\$39.40	\$630.40
<u>8</u>	Qwik Stik Cool Citrus 20 02 50 Count	Sqwincher 060109-CC	AGS Item ID: 050109-CC	48	BAG	\$14.41	\$691.68
。	Qwik Stik Fruit Punch 20 02 50 Count	Sqwincher 060102-FP	AGS Item ID: 060102-FP	275	BAG	\$14.41	\$3,962.75
5	Qwik Stik Grape 20 02 50 Count	Sqwincher 060107-GR	AGS Item ID: 060107-GR	162	BAG	\$14.41	\$2,334.4
111	Qwik Stik Lemon Lime 20 02 50 Count	Sqwincher 060106-£L	AGS Item ID: 060106-LL	165	BAG	\$14.41	\$2,377.65
112	Qwik Stik Mixed Berry 20 OZ 50 Count	Sqwincher 060101-MB	AGS Item ID: 060101-MB	160	BAG	\$14.41	\$2,305.60
113	Qwik Stik Orange 20 02 50 Count	Sqwincher 060100-OR	AGS Item ID: 060100-OR	150	BAG	\$14.41	\$2,161.50
114	Qwik Stik Peach Tea 20 02 50 Count	Sqwincher 060104-PT	AGS Item ID: 060104-PT	150	BAG	\$14.41	\$2,161.50
115	Qwik Stik Rasberry 20 OZ 50 Count	Sqwincher 060105-RB	AGS Item (D: 060105-RB	150	BAG	\$14.41	\$2,161.50
116	Qwik Stik Strawberry Lemonade 20 OZ 50 Count	Sqwincher 060099-St	AGS Item ID: 060039-SL	48	BAG	\$14.41	\$691.68
117	Rain Suit 3 Piece Yellow 35 Mil Large	Liberty Glove and Safety 1220-L	AGS (tem tD: 200-3-L	8	Ā	\$6.19	\$222.84
118	Rain Suit 3 Piece Yellow 35 Mil Xlarge	Liberty Glove and Safety 1220-XL	AGS Item ID: 200-3-XL	8	Ð	\$6.19	\$222.84
₽	Rain Suit 3 Piece Yellow 35 Mil XXLarge	Liberty Glove and Safety 1220-XXL	AGS Item ID: 200-3-2XL	æ	Ð	\$6.19	\$222.84
120	Respirator Acid/Gas irritants, Disposable w/ Exhalation Valve Medium/Large 10 Count	Moldex 2500N95	AGS Item ID: 2500N95	8	BAG	\$36.37	\$3,491.52
121	Respirator Ozone/ Organic Vapor Irritants, Disposable w/ Exhalation Valve Medium/Large 10 Count	Moldex 2400N95	AGS Item ID: 2400N95	8	BAG	\$35.01	\$3,360.96
122	Scissors Mini Bandage 4 1/2"	Honeywell Safety 32BS412	AGS Item ID: 32-BS412	36	æ	\$0.70	\$25.20
123	Scissors Paramedic Utility 7"	Medique 70901	AGS Item ID: 32-53874	100	E	\$2.01	\$201.00
124	Suit Tyvek Bunny Hood & Boots 2XLarge	Dupont TY122SWH-2XL	AGS Item ID: TY122SWH-2XL	48	E	\$5.39	\$258.72
125	Suit Tyvek Bunny Hood & Boots 3XLarge	Dupont TY1225WH-3XL	AGS Item ID: TY122SWH-3XL	36	Ð	\$5.66	\$203.76
126	Suit Tyvek Bunny Hood & Boots Large	Dupont TY122SWH-L	AGS Item ID: TY122SWH-L	36	Ð	\$5.04	\$181.44
~Ī	Suit Tyvek Bunny Hood & Boots XLarge	Dupont TY122SWH-XL	AGS Item ID: TY122SWH-XL	48	EA	\$5.04	\$241.92
128	Sun Screen 30 SPF 1 OZ	Coretex 71665	AGS Item ID: 28-71665	8	ą	\$0.81	\$77.76
87 19	Sunscreen SusPr Towlette Suu Count	Coretex 71443	AGS Item ID: 28-71443	8	CASE	\$122.07	\$5,859.36
, [Iape Adriestve 1/2" X 15	Medique 60/01	AGS Item ID: 02-60701	36	ROLL	\$1.24	\$44.64
2	lape Adresive Porous 2. X 30	Jahnson & Jahnson 535106		81	ROLL		\$0.00
ي آ و	tape reliow barrier caution 1.5 mil 2000 X 3	N/A	AGS Item ID: PE-34	450	ROLE	\$4.76	\$2,142.00
124	Vest Satety Mesh Class 2 Lime 2XLarge	Radians SV2ZGM2X	AGS Item ID: LFV-SV2ZGM-2XL	100	B	\$4.11	\$411.00
₹ Ę		Kadiarts SV2/GM3X	AGS Item ID: LFV-SV2ZGM-3XL	8	3	\$4.11	\$369.90
135	Vest Safety Mesh Clark 2 Linte 4ALarge Vest Safety Mark Clark 2 Linne Large		AGS Item ID: LFV-SVZZGM-4XL	ទ	5	\$4.11	\$369.90
137	Vest Valety Mesh Class 2 Line VI arre		AGS IGEN IU: LFV-SVZ4GM-L	8	a i	\$4.11	\$411.00
138	Vot Sefet Machine Carl Share 2 Votes 2 Vote		AGS ITEM ID: LFV-SV22GM-XL	150	E	54.11	\$616.50
139	vest valety intent Olda Cool Class 3 Orange 2Atalige Vest Safaty Mesh Lillers Cool Class 3 Oranne 311 and		AGS ITEM IU: FV-1243-2XL	8	a i	\$13.29	\$1,329.00
140	Vest Safety Mesh Liltra Cool Class 3 Orange 4X area	MI Kichiao 1243-244	AGS (tem ID: EV-1243-3AL AGS (tem ID: EV 1242-3V)	5	5 i	87.516	\$554.50
141	Vest Safety Mesh Lilitra Cool Class 3 Orange Large	MI Kichigo 1243-1		ŝ	51	\$13.23 \$42.00	0000 14
142	Vest Safety Mesh Ultra Cool Class 3 Orange Medium	MI Kishigo 1243-M	AGS Item ID: FV-1243-L	Ę	55	\$13.23	41,229,00
143	Vest Safety Mesh Ultra Cool Class 3 Orange XI arge	Mt Kichien 1243.XI	ACS Hem ID: EV-12-13-14	<u></u>	ងដ	612.70	0.000.19
144	Winch 60' X 1/4" Stainless Steel	2M 8107002	AGG Item ID: 14-1243-AL	<u></u>	5	\$43.43	00.520.1¢

÷

6

	-						8
	EXTENDED	AMOUNT \$					\$298,463.00
	UNIT PRICE \$	ANNUAL MEASURE AMOUNT \$		_	TOTAL	BID	
EXHIBIT A: UNIT PRICES	UNIT OF	MEASURE	(MOU)				
	ESTIMATED	ANNUAL	USAGE	QUANTITY	- ALANA		
	MANUFACTURER & PART NUMBER	For substitute items provide the manufacturer and model	number of offered item				I price.
		MANUFACTURER & PART NUMBER			n/Unioaded; include cost of freight in unit price.	rates ir applicable, do No. Victice Sales, iax in Unit	
	ITEM # ITTEM NAME	cerrs to include and sausty all solicitation & Offer Agreement requirements, General & Item	Specifications		FOB. Destination		
				A CARDON A CARDON A			
- 1							veed6